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TEST BOOKLET
For {he Post of Accountant

%T?ﬁe Allowed: Three Hours Muaximion Marks: 13 {}]‘

INSTRUCTIONS

| IMMEDIATYELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU
SHOULD CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR .
TORN OR MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A ...
COMPLETE TEST BOOKLET.

5 Please note that it is the candidate’s responsibility to fill in the Ro!l Number without any omission
or discrepancy at the appropriate places in the OMR Answer Sheet. Any omission/discrepancy
will render the Answer Sheet liable for rejection,

3. You have to enter your Rell Number on the

Test Booklet in the Box ;Sl‘ovided alongside.

DO NOT write anything else on the Test Booklet. _

This Test Booklet contains 150 questions in two subjects i.e. English and Arithmetic Ability.

Questions are printed both in Hindi and English. If there is any discrepancy or ambiguity in

Hindi and English version of 2 question, English version witl prevaii/valid. . ..

TS

6. Each question comprises four options. You will select the correct option and mark on the OMR
Answer Sheet. In any case, choose ONLY ONE option for each question.

7. You have to mark all your answers on the separate Answer Sheet provided. See directions in the
Answer Sheel.

8. ALL questions carry equal marks.

9, After you have completed filling in all your answers on the Answer Sheet and the examination
has concluded, you should hand over Answer Sheet and question paper to the [nvigilator. You are
not permitted to take away test booklet with you

10. Sheets for rough work are appended in the Test Booklet at the end.

11. Penalty for wrong answers:

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE
IN THE OBJECTIVE TYPE QUESTION PAPERS.

(i) There arc four alternatives for the answer fo every auestion, For each question for which 2
wrong answer has been given by the candidate, one-fourth of the marks assigned to that
question will be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wreng answer even if one of
the given answers happens to be correct and there will be same penalty as above to that
question.

(iii) If a question is left blank, ie., no answer is given by the candidate, there will be no penﬁlt}—’
for that question.



Question Paper

English

Section 1 sentence improvement
Q1 she is better than any girl in her class

a} Most of the girl
b) All the girls

c) Any other gir
d) No improvement

Q2 No sooner | had reached the station than the train left

a} No sooner had | reached
b) No sooner | reached

c) No sooner had | reached
d) No.improvement

Q3 He is too weak that he cannot run

a) So weak that

b} Very weak that

c) Weak enough that
d} No improvement

Q4 Despite his wealth, he is not happy.

a) In spite of his wealth
b) Despite his wealth

¢) Though he was wealth
d) No improvement

Q5 She resemble his mother

a} Resemble

b) Is resembling

¢) Resembles with
d} No improvement

Q6 it is time we start working

a) We started working

b) We have started working
c) We are starting

d} No improvement




(7 He has been living here since three years

a) Forthree years

b} From three years

¢} Since last three years
d} No improvement

Section 2: Sentence Correction
Q8 Each of player have performed well

a) Has performed well

b} Have been performed well
¢} Have performing well

d) No correction

Q89 He is senior than me.

a} Senior to me

b) Senior from me

¢} Meore senior than me
d) No correction

Q10 He instated {o go

a) On going

b) To going

c) Upon going
d) No correction

Q11 He denied to help me

a) Denied helping

b} Refused to help

c) Denied that he will help
d} No correction

Q12Neither Ram nor his friend is responsible.

a) Areresponsible

b) Has been responsible
¢} Is being responsible
d) No correction

Q13 the teacher as well as the students were present

a) Was present

b) Were being present
c) Have present

d) No correction




Q14 he has no any friends

a) He has no friends

b) He has not any friend
c) He hasn’t any friends
d) No correction

Section 3: Fill in the blanks (Preposition)
Q15 she is good------------- mathematics

a) In
b} At
c) On
d} With

Q16 the child is afraid------------ the dark

a) In -
b} Of
c) To .
d} with -

Q17 he succeeded---------- his efforts

a) In
b) by
c) At
d} With

Q18 he was accused -———————- theft

a) For
b) To
c) Of
d) With

Q19 they agreed-----—-—-- the proposal

a) At
b} with
c) To
d) In

Q20 she is married----—--——- a doctor

a) To
b) With
c) By
d) On




Q21 he is looking forward----------- the meeting

o 1]
-

) For

)
¢} With
) On

Section 4: Fill in the blanks with appropriate verb form

=3
ol

o
o

Instructions- Choose the correct form of the verb to fill in the blank
Q22 he usually up at 6 AM, but today he overslept

a) Gets
bh) Got
¢} Get
d} Is getting

(23 Neither of the boys completed his homework

a) Have
b) Has
c) In

d} Are

Q241 to the market when { saw the accident.

a) Go

b) Went

c) Was going
d) Am going

(25 The train before we reached the station.

a) Had left
b} has left
c) leaves

d) isleaving

Q26 By this time next year, she her degree.

a) Will complete
b} Will have completed
c) Iscompleting
d) Has completed

Q27 If he hard, he would have passed.

a) Studied
b) Studies
c) Had studied
d} Was studying




Section 5: Word rearrangement

In each question, a sentence is broken into five parts{a-e}). One of these is out of order.
Choose the correct order to form a meaningful and grammatically correct sentence.
Q28

a) we must
b} over pollution
c) rise awareness
d) to protect the environment
e} among people
a) a-b-c-e-d
b) a-c-e-b-d
¢} b-a-c-d-e
d} a-b-d-e-c
Q29

a) though he was tired

b) he completed

c) his assighnment

d} with great effort

e) and submitted on time

a) a-b-c-d-e
b} b-c-a-d-e
¢} a-b-d-c-e
d) a-d-b-c-e
Q30
a) Indiais
b} For its cultural heritage
c) Known

d) And historical monuments
e} Acrossthe glob

a) a-c-b-d-e

b} c-a-b-d-e

¢} a-b-c-d-e

d) a-c-d-b-e

Q31

a) The teacher

b} Gave example

c) To make

d} The topic clearer

e} While teaching
a}) a-e-b-c-d
b} e-a-b-c-d
¢} a-b-c-d-e
d) a-b-e-c-d




a) Technology has
b) Many sectors
c) Influenced

d) Modern

e) Life across
a) a-c-d-e-b
h) c-a-d-b-e
c) a-d-e-c-b
d} a-c-e-d-b

Section 6: Error Detection

In each of the following sentences, one part has a grammatical or idiomatic error. Choose
the part that contains the error. If there is no error, choose “No error”

Q33 he is/senior than/any other/officer in this department

a) Heis

b) Senior than
c) Any other
d) No error

Q34 neither Ramesh/nor his friends/is interested/in the offer

a} neither Ramesh
b} nor his friends
¢) isinterested

d) no error

Q35 The teacher /asked the students/ to write/their names in capital letter

a) the teacher

b) asked the students

c) to write

d) their names in capital letter

Q36 He insisted/ on going/to the market/himself

a} heinsisted
b} on going

c) tothe market
d) noerror

Q37 the manager/along with his assistants/ were present/at the meeting

a) the manager

b} along with his assistants .
c) were present

d} noerror




Q38 one of the /boy is/absent today/due to illness

a) one of the
b) boyis

c) absent today
d) no error

Q39 each of these/candidates have/passed the exam/with distinction

a) each of these

b) candidates have
c) passe'd the exam
d) noerror

Section 7: Sentence Completion

Choose the most appropriate option to complete each sentence
in a meaningful and grammatically correct way

Q40 the teacher postponed the test because

a) The students were well prepared
b) The classroom was full

c) -Mahy S__tu__dents were absent

d) Itwas asunny day

Q41 she worked overtime

a) So that she could complete the project on time
b) Since she had no work

c) Because she wanted waste time

d} Although she disliked the project

Q42 the dog barked loudly

a} But no one fed him

b) So it could sleep peacefully
c) Because it sensed danger
d) And wagged his tail

Q43 he speaks as tough

a} He knows everything

b) He will know everything
c} He knew everything

d) He is knowing everything



Q44 he had barely reached the station

a) The train arrived

b) When it started to rain
¢) While the train was late
d) Than it was closed

Q45 if he had studied harder,

a) He wili pass

b) He could have passed the exam
c) He has passed

d) He may pass

Reading comprehension passage

Climate change is no longer a distant threat, it is a present reality. Rising global temperatures,
melting glaciers, erratic rain fall patterns, and frequent natural disasters are all indicators of a
planet under stress. Human activities, particularly the burning of fossil fuels and deforestation,
have significantly contributed to the accumulation of green house gases in the atmosphere.
These gases trap heat and disrupt the earths climate systems,

While Governments and organizations across the world are taking steps to mitigate the effects
of climate change, individual action is equally vital. Simple lifestyle changes like reducing
plastic use, conserving energy and supporting sustainable products can collectively make a
significant impact. Climate change is a complex issue, but one thing is clear; the time of action

is now, not tomorrow.
Q46 What is the primary cause of climate change as mentioned in the passage?

a) Natural disasters .

b} Human activities, particularly the burning fossi! fuels and deforestation
¢) Ocean currents

d) Volcanic eruptions

Q47 which of the following is not mentioned as a visible effect of climate change?

a) Melting glaciers

b) Increase in wildlife population
¢) Erratic rain fall patters

d) Frequent natural disasters

Q48 what roll do individuals play in combating climate change according to the passage

a) No role at all

b) They should wait for the Government to act

¢) They can contribute through simple lifestyle changes
d) They should avoided all outdoor activities



Q49 what does the author imply by saying “ the time of action is now, not tomorrow”?

a} We should delay action until we fully understand the problem
b) Immediate action is essential to combat the climate change
¢} Climate change will resolve on its on

d) There is no need for urgency

Q50 what is the tone of the passage?

a) Indifferent

b) Humorous

¢} Urgent and concerned
d) sarcastic




SO A
Arithmetic Ability

w9 51 &1 el 7 AT 1365 B A Gad 9} TS B 9y Bic B ¥ fauifor
e ST, T YTTHE 4 ST 1R Q9 15 BT ) o BICT S 1 87

a) 225
b) 275
c) 240
d) 270

051- the sum of two numbers is 1365. If the largest number is divided by the smallest
number, the quotient is 4 and the remainder is 15. So what is the smallest number?

a} 225
b) 275
c} 240
d) 270

TY 52- 7' B IPTs 3P R &

a)l
b) 2
c}7
d}9
Q52- What is the unit digit of 71%°

a) 1
b} 2
c) 7
d) 9

Ty 53- 1 GOSN ST U 15:11 § 3R SehT Hea THIIade 10 €, O 3 TRy
g7

a) 30 3R 33

b) 75 31 55

¢) 135 3R 99
d) 150 3R 110

Q53- The ratio of two number is 15:11 and their greatest common factor is 10 then what are
these numbers?

a) 30 and 33
b) 75 and 55

¢) 135 and 99
d) 150 and 110




UY 54- 27,63 3R 72 HT TLAH YHMITH R SATT?

a) 1512
b) 168
c) 504

d) T8 T B T

Q54- What will be the least common multiple of 27,63 and 72?

a) 1512
b} 168
c) 504
d} None of these

TY55- (2.68 +3.85) 1 AT &1 87

a)1.17
b) 1.53
c) 1.75
d) 4.53

Q55- what is the value of (Z.68 +3.85)?

a) 1.17
b} 1.53
¢) 1.75
d) 4.53

U9 56- 0.014X0.014 [T SRS &?

a) 0.000196
b} 0.00196
¢} 0.0196
d) 0.196

Q56- 0.014X0.014 is equal to what=?

a) 0.000196
b) 0.00196
¢) 0.0196
d) 0.196

UY 57-1 o [14+] = {1+] 2 (1+] <= 2)}] BT AH R 7
a)

nlowlinnwin —




Q57- what is the value of 1 == [1+1 == {1+]1 == (1+] == 2)}i?
a.
b.
C.

d.
Ty 58-Ufe 2 = 2 W S 7 W I i

6a—5hb

njiwwinnwlin —

a)y s
b) 4
c) 3
d) 1
6a+4b
6a—5b

Q58- If % = g then find the value of

a) 5
b) 4
c) 3
dy 1

Y 59- /0.16 BT AF 1 8?

a) 0.2
b) 0.4
c) 0.8
d) 0.04

(Q59- What is the value of /0.16?

a) 0.2
b) 0.4
¢) 0.8
d) 0.04

Q60- ‘/6 +4/6 +\V6r...=?

a) b5
b) 4
c) 3
d) 2




060- .}6 + 6 +6+...=?

O O T m
e Sy
N W on

Y 61-3f¢ V3r= 720 § I n BT A F1d DIOIT:

G O
_— ==
N =3 o =

[ o]

[l

Q61- If v/3n = 729 then find the value of n:

a) 12
b) 8
c)7
d) 6

U 62- OTa T3l &7 3T 18 71 Tfe T T gel S e, af 3fid 16 W S 81 A
It T geTs Wiu?

Q62- The average of five numbers is 18. If one number is removed, the average remains 16.
Which number is removed?

a) 90
b) 64
c) 24
d) 26
e)

TY 63- UG 50 Wi Teasll &7 3ivd &1 82

a) 12.75
b) 12.25
c) 25.5
d) 25




Q63- What is average of the first 50 natural numbers?

a) 12.75
b) 12.25
c) 25.5
d) 25

T 64- I8 & 91 & oI 15 9 701 A WR 196 P! gl Bl g7

a) 13.06
b) 14
c) 16
d) SR H ¥ s ol

Q64- What is the number which multiplied by 15 increases by 1967

a) 13.06

b) 14

c) 16

d) None of the above

8 65- Tf% 31 AR 1 AN 12 % SR IT1 U 35 3, A SrpHI ST AN g
2) 7/12 R

b) 1/5
¢)3/15
d) 12/35

Q65- If the sum of two number is 12 and their product is 35, then what will be the sum of
inverses?

a) 7/12
b) 1/5

c) 3/15
d) 12/35

U 66- fohell oafaa ) aduM Sig 39S YA $I Ia9F MY & o T 8 3 I8 T §, 3
¥ 91e 3 fed &1 Mg 39S T D1 A & & ¥ 10 ay e 8)1ift | 39 wfaq &
IAHM 3T FT8?

a) 43
b) 40
¢) 36
d) 33




Q66- The present age of a person is 3 years more than three times the present age of his
son, after 3 years the age of that person will be 10 years more than twice the age of his son.
What is the present age of that person?

a) 43
b} 40
c) 36
d) 33

T 67- 31 SR AT 1 GIHH SR BT S0 5:7 T | 5 T a1 B! 341 BT SUTd
3:4 B SN @ Gid &1 G SR R 72

a) 20
b) 30

c} 40
d)STH Y D13 8T

Q67- The ratio of the present ages of Anil and Sunil is 5:7. After 5 years the ratio of their ages
will be 3:4. So what is the present age of Sunil?

a) 20
b} 30
c) 40
d) None of these above

Y 68- (57 X 5% == 5%y ®1 O:
a)75

b) 25

c) 125

d) 3TH 4 P13 I8

Q68- The value of {57 X 5% «= 58):

a) 75

b) 25

c) 125

d} None of the above

u%r69~t|ﬁ><m3+zx/§%‘cﬁ(\/} - Tg)mmmﬁﬁm

a) 2

b) 3v2
c) 2v2
d) 3v3




Q69-if x = 3 + 24/2 , then what is the value of (\ff — —ji)?

a) 2

b) 3v2
c) 22
d) 3v3

UY 70- logs 81 BT A §;

a}3
b} 4

c)9
d) 3T Y B T
Q70- The value of logz 81 is:

a) 3
b) 4
c) 9
d) None of these

TY 71- T AT X + AT Y = A (xay) N

a) X=1/y

b) (x-1)= x/y
c) X=y

d) x.y=(x-1)

Q71- If log X +log Y = log {x+y) then

a) X=1/y

b) (x-1)= x/y
¢} X=y

d) x.y=(x-1)

U 72- A X FIX % =258, X PTHA &

a)5

b} 25
¢) 50
d} 2500

Q72- If X % of X =25, then the value of X is:

a) 5

b) 25
c) 50
d) 2500




uy 73- T X, ¥ & 10% ¥ 8, A v, x § e ufdwra o1 87
9
a) 2']'3
by 9=
11
9
C) 11";
d) 9=
11
Q73- If X is 10% more than Y, then what percent is Y less than X?
a) p
11
b) 9=
11
c) 1>
11

d) 9=
11

T 74- Afe 8 I3 BT Y e 9 Gx3H & [y goa & sRIaR B, df [asban &1 e
gl oy g eI gt

a) 1z§% T

b) 12§%6Ti:4
1

c} 115% [NIES]
)

d 11§%E1ﬁ‘f

Q74- If the purchasing price of 8 items is equal to the selling price of 9 items, then what will
be the percentage profit or loss to the seller?

a) 12—21— % profit

h) 12% % loss

c) 11& % profit

d) 11%% loss

Ul 75- fobell HeA 1 - ofguTd ael § 5l - 9 B1Y 98 Wem i 82




Q75- The ratio of a number to —2—1-7- is the same as that of % to g what is that number?

3
585
b) -~
c) %
d)=

11

a)

T8 76- 2 TR T A1) SReT A HH: 20% 3R 50% i ¢ 1 59 & S &7
T T §?

a) 2:5
b) 4:5
c) 6:5

d) 3TH Q BIE e

Q76- Two numbers are 20% and 50% more than a third number respectively. What is the
ratio of these two numbers?

a) 2:5

b} 4:5

c) 6:5

d) None of these above

s 77- g4 H U b Srgara # e S =T fap forsrr b g o Erd el W seH
TR 162 % BT A G

a) 2.3
b) 3:2
c} 6:1
d) 1:6

Q77- In what ratio should water be mixed with mitk so that by selling the mixture at the cost

price of milk there is a profit of 16—2- %

a) 2:3
b} 3:2
¢c) 6:1
d) 1.6

s 78- 9T 16 G809 A1 20 AiRaTd fordt T &7 25 &1 7 g ) epd €, ot 28 YRV iR
15 Afgat forerens S0 @ ol e fot & g1 R T

a) 20
b) 10
c) 15
d) 18




Q78- If 16 men or 20 women can finish a work in 25 days, then in how many days will 28
men and 15 women together be able to finish the same work? '

a) 20
b} 10
c) 15
d) 18

T8 79- 40 fpwl/eer BT Sfrad T T I A 16 U ¢ I IR 370 Yo dep Ugad
81 afa guet oird TR 35 forrfl/eer 8, A o vidar W 15 fre S A ugad €, e wn g

a) 40 TpHl
b) 50 foreit
c) 60 fopeft
d) 70 fordi

Q79- A train travelling at an average speed of 40 km/hr reaches its destination on time. If its
average speed is 35 km/hr, then it destination 15 minutes late, what is the distance?

a) 40 km
b) 50 km
¢) 60km
d) 70 km

Y 80- 20 fereil/der &1 71id A 200 Wiex &) g 00 S ° a1 9o aim?
a) 72 Vb3S
b) 1 fAFE
c) 40 UHg
d)2 fime

Q80- How much time will it take to cover a distance of 400 meters at a speed of 20 km/hr?

a) 72 seconds
b) 1 minute
¢) 40 seconds
d) 2 minute

U4 81- HIYRU SIS & W, 5 TV 915 [ SFRIR & Fehafeg iR 9800 ST & o1t ©
3R 8 g9 &1E 12005 TUF B e & | ) I s SR T B2

a) 5%
b) 10%
c} 12%

) 39 A B e




Q81- With simple interest, the compounded amount of a sum of money after 5 years
becomes Rs.9800 and after 8 years becomes Rs.12005, Then what is the annual rate of
interest?

a) 5%

b} 10%

¢} 12%

d) None of above

Y 82- 4% TR 2 99 & T 4RI TR Thaf TS SR IYRY TS| & ol &1 3fdR |
S & 1 I8 4RI fopat 87

a) 526 TUY
b) 2656 ®TY
¢) 560 F9Y
d) 625 304

Q82- The difference hetween the compound interest and simple interest on sum of money
for 2 years at 4% is Rs.1. How much is this money?

a) Rs.526
b) Rs.2656
c} Rs.560
d} Rs.625

T 83- BANANA X163 o 34eR| § fha- svrag €477
a) 60

b) 120

c) 180

d) 240

(Q83- How many permutations wiil be formed from the letters of the word BANANA?

T4 84- (10 ..+ 10, 4)Wrﬂ:f%:

a) 205
b) 225
¢} 230
d) 255




Q84- The value of (10 . 2 + 10 4)is:

a) 205
b) 225
c) 230
d) 255

T 85- U1 Yhah U H GBAT 311 &1 ST o7 82

a) 1/6
b) 1/2
c) 1/3
d) 1/4

Q85- What is the probability of getting an even number when a dice is thrown?

a) 1/6
b) 1/2
¢} 1/3
d) 1/4

U4 86-41¢ A 311R B &) W0 TH U § 3R P(A)=3/20, P(AUB)=0/20 & TY p(B) T T &
BITT?

a) 6/11
b) 6/13
¢) 6/17
d) 6/19

Q86-If A and B are two independent evens and P(A)=3/20, P(AUB)=9/20 then what will be
the value of P{(B)?

a) 6/11
b) 6/13
c) 6/17
d) 6/19




T4 87-90 TG aifere o aul & oafd & IR axgaii A,8,¢ 3R p & ald (@IS o) &
i) &1 arferest T rea B AR Ul P IR S

CRIGES| A B C D

2010 240 128 180 214
2011 250 134 244 282
2012 225 138 230 247
2013 370 169 340 224
2014 425 182 300 309
2015 400 209 306 275

Q87-90 The following table represents the exports {In Crores) of four items A,B,C and D over
a period of six years. Study the table and answer the questions:

Year/item A B C D
2010 240 128 180 214
2011 250 134 244 282
2012 225 138 230 247
2013 1 370 169 340 224
2014 425 182 300 . 309
2015 400 209 306 275

T 87- 2014 3R 2015 T I8 A P F Fafd 72011 3R 2015 TG ¢S P ala |
SUT T 2

a}3:2
b) 4:3
c)5:4
d}7:5

Q87- What is the ratio of the total exports of item A in 2014 and 2015 to the total export of
the item Cin 2011 and 20157

a) 3:2
b) 4:3
c) 5:4
d) 7:5

7% 88- 2010, 2012 3N 2014 H 3ATZCH p BT $d AT 2011 3R 2012 H FH IR gall &
ot frafa &1 fesaa ulra g2

a} 46%
b) 45%
c) 40%
d} 44%




Q88-The total exports of item D in 2010,2012 and 2014 is what percentage of the total
exports of all the four items in 2011 and 20127

a) 46%
b) 45%
c) 40%
d) 44%

vel 89- fober ol ¥, eirged p Bl Frafa we aul & SR ey s & o frafd @1 1.4 7
P

a) 2013
b) 2012
c) 2011
d) 2010

Q89- In which year, the exports of item D werel.4 times the average exports of item B during
six years?

a) 2013
b) 2012
¢} 2011
d) 2010

U 90- 2012 2014 TP 3M1ZCH A DT Sl (1l 2015 F guft IR awgall & o Frafa @
feaTula s g

a) 15.2%
b) 16.7%
c) 14.3%
d} 13.8%

Q30- The total exports of item A from 2012 to 2014 is what percentage less than the total
exports of all the four items in 20157

a) 15.2%
b) 16.7%
c) 14.3%
d} 13.8%

T 91- G AT 3:4 F AU T § | ST LCM 84 &1 52 T 7

a) 21
b) 28
c) 12
d) 7




Q91- Two numbers are in the ratio 3:4. Their LCM is 84. The grater number is:

a) 21
b) 28
c) 12
d) 7

Y 92- AT T 1650 00 T U Ursfed @1 39 39 8% B 8 IR S+ UST 39
ESKELF

a) 1581
b) 1508
¢) 1510
d) 1518

Q92- Aman bought a bicycle for Rs.1650.She had to sell it at a loss of 8%. She sold it for;

a) 1581
b) 1508
¢) 1510
d) 1518

% 93- Uil 2/7,1/3,5/6,3/4 T | S A1 HIF Fed 591 8

a)2/7
b) 1/3
c} 5/6

d) %

Q93- Which value is the greatest value among the fractions 2/7,1/3,5/6,3/4

a) 2/7
b) 1/3
¢} 5/6
d} 3/4




% 04-98- =ira U 1w ure a1é ¥ s 31t o5t Y ot wfcrera Seuret feraman wrn €1 s
I BT ST B3 3R A T 7u usf & IR &

Q94-98-The percentage production of cars of different colours is shown in the pie chart given
below. Study the pie chart and answer the questions given below.

I

U 94- B Tl T St HR UTeh PRI B! I H 10% 5 Aipiir 7

a) el
b) ATl
c)tﬁFﬂ
d) olled

Q94- Which colour car is 10% more popular than yellow cars?

)
b} Blue
¢} Yellow
d)

U% 95- fe Pt 55000 BRI BT STG (a1 ST §, O AT BRI b1 Seare el dRi &
Iared 3 faremr st g»

a) 1250
b) 1350
c) 1650
d) 1450

Q95- If a total of 55000 cars are produced then how much is the production of red cars more
than the production of blue cars?

a) 1250
b) 1350
¢} 1650
d) 1450




v 06 P ¥ 9 forg WIR § BRI & el JUIGA 1 50% (801 82

a)tﬂﬁT,"Q—'ﬂﬁ,:?@T,E_{T

b) Tig], T, GBI, T
C)W,W,W

d) ard, fiell, Ttha

Q 96- Which of the following stores accounts for 50% of the total production of cars?

a) Yellow, Red, Blue, Green
b) Silver, White, Golden, Red
¢) Golden, Whit, Red

d) Red, Blue, White

Q97- ATd SR Fibg HRY & W HE IV T U 1 §?

a} 3;1
h) 1;3
c}2:3
d)1:2

Q97- What is the ratio of the corresponding central angles of the red and white cars?
a) 3;1
b} 1;3
c) 2:3
d) 1:2

Q98- e BRI & TIU-H1Y e T D! BRI BT I 2% Gl S e iy I8
Jdre Gl STTG BT 25% Bl SITT?

a) olldt
b) &I

c) el
d) gien

Q98- Along with blue cars, the production of white colours car should be increased by 2% so
that this production becomes 25% of the total production?

a) Red
b) Green
¢) Black
d) Yellow

Q99- 4 TEH! 3R 3 Tafedl 3 SNTa 120 TR T BT, e A wrsep! 7 3fwd 150
SR fpU| Al Tl gR1 W &1 1S Sied IR 3:

a) 60
b) 80

c) 120
d) 240




Q99- 4 boys and 3 girls spent Rs.120 on the average, of which the boys spentRs.150 on the
average. Then the average amount spent by the girls is :

a) 60
b) 80
c} 120
d) 240

Y 100- 1= 7 10% Uil TN HIUROT &1 BT & F Wrafy s & 15600 T &A1 {6 g2
TER TN P d1E, T8 31U SIS 3 ) HeY H Siiedl § | TR I 3 o479 8

a) 1872
b) 3120
c} 1249

d) 379 A B 78l

Q100- Anil deposited Rs15600 in a fixed deposit at the rate of 10% per annum simple
interest. After every second year, he adds his interest earnings to the principal. The interest

at the four year is:

a) 1872
b) 3120
c) 1249
d) None of these

TY 101 SIS TS UUTTeH & 3M1eR R 8

a2
b} 8
c) 10
dj16

Q101 What is the base of binary number system

a) 2
b} 8
c) 10
d) 16

Y 102 S5-R1 GJT 1011 HT SHAT YT R &

a)9
b) 10
c) 11
d)12




Q102 What is the decimal equivalent of the binary number 1011

a) 9

b) 10
¢) 11
d) 12

% 103 SNy FERed dugex § fora TR Tl &1 Sudi fora e 82

a) GRHd
b)ala?rﬁ
c) 3facdd
d) SIS R

Q103 Which number system is used in modern digital computers?

a) Decimal

b} Binary

¢) Octal

d) Hexadecimal

%104 &) TSI BT LCM 120 § R FTEHT HCF 10 B, TR SBall &1 UHhe 91 §?

a) 1200
b) 1100
c} 1000
d} 1300

Q104 -The LCM of two numbers is 220 and their HCF is 10, what is the product of two
numbers?

a) 1200
b) 1100
¢) 1000
d) 1300

Y 105- 0.75 DT 14H H Faa|

a) ¥4
b) %2
c)2/3
d) 4/5

Q105- Convert 0.75 into a fraction.

a)%
b)Y
c) 2/3
d) 4/5




¥ 106- 7/8 pT cHG JHJY GE[T%?

a) 0.75
b) 0.875
c) 0.8

d) 0.95

Q106 what is the decimal equivalent of 7/87?

a) 0.75
b} 0.875
c) 0.8
d) 0.95

TH 107 TE P (25+5)X4/2

a) 60
b} 40
c) 30
d) 50

Q107 Simplify: (25+5)X4/2

a} 60
b) 40
c) 30
d) 50

U 108 B BY:(4024312)/5

a)s
b} 6
c}7
d) 8

Q108 Solve:(472+3/2)/5

a) 5
b) 6
c) 7
d) 8

T% 109- 27 &1 94 &

a)2
b)3
c)4
d)5




Q109- The cube root of 27 is:

U 110- 125 &1 O-TYH I HI |

a)5s
h) 6
c)7
d} 8

Q110- Find the cube root of 125.

al 5
b} 6
c) 7
d} 8

U9 111- 256 T A T 82

a) 12
b) 14
c) 16
d) 18

Q111 What is the square root of 2567

a) 12
b) 14
c) 16
d} 18

U 112- 6,8,10 3R 12 BT 3 o

a) 8
b) 9
c) 10
d 12

Q112- The average of 6,8,10 and 12 is:

a} 8
b) 9
¢} 10
d) 12




U4 13- 1S Ul Teareil @1 SiRId 20 B, &) ST ool A R 8

a) 50

b} 100
c} 150
d) 200

(Q113- If the average of five number is 20, what is their total sum?

a) 50

b) 100
c) 150
d) 200

T4 114- U fUa1 SR Y3 T o 61 A1 50 99 31 afe Rt @ 30 af a1 8, gz o
3T T &7

a) 10T
b) 15 a8
c) 20 T
d) 25 g%

Q114 The sum of ages of a father and son is 50 years. If the father is 30 years older than the
son, what is the son’s age?

a}) 10 years

b) 15 years

c) 20 years

d) 25 years

Y 115- 150 BT 20% ¢

a)30
b) 25
c) 20
d) 15

Q115- 20% of 150 s :

a) 30
b} 25
c} 20
d) 15

TH 116- TG f el FBar | 20% BT g B el 8 SR R 10% PR FI A R, T yg
g g?

a) 8%
b) 10%
c) 12%
d) 15%




Q116- if a number is increased by 20% and then decreased by 10%, what is the net increase?

a) 8%
b) 10%
c) 12%
d) 15%

Ty 117- Afe ) S o1 5 § qoun form e $ik e 39d 10 SeT S, &t ufkomy 4¢
TSI} 98 6T 91 &7

a)4
b} 5
c)6
d}7

Q117- If a number is multiptied by 5 and then 10 is added, the result is 40. What is the
number?

al 4
b) 5
c) 6
d) 7

TY 118- log10(1000) BT AF T 87
a)l
b) 2
c)3
d)4

Q118- what is the value of log10{1000)?

a) 1
b) 2
c) 3
d} 4

Ty 119 -S1s U Fsger gt ISTe Siar € 4 fod 3 o gy s g?

a) 0.25
b} 0.5
c) 0.75
d)1

Q119- what is the probability of getting head when a fair coin is tossed?

a) 0.25
b) 0.5
c) 0.75
d) 1




u%f12&@@?{%%@?3%@%%@@%%@%&@%@13?

a) 172
b} 5/8
c) 3/8
d) 2/3

Q120 A beg contains 5 red and 3 blue balls. What is the probability of drawing red ball?

a) 1/2
b} 5/8
c) 3/8
d) 2/3

% 121 9SS IR % WId €, Y 7 BT 1T 3419 B SUTaT 7 22

a) 1/6
b) 1/12
c) 1/9
d) 1/36

Q121- if two dice are thrown, what is the probability of getting a sum of 7?

a) 1/6
b} 1/12
c) 1/9
d) 1/36

UH 122- 52 Gl &b S& 9 I T P! UG §:

a) 1/4

b) 1/13
c) 1126
d) 1/52

Q122- The probability of selecting a queen from a deck of 52 cards is:

a) 1/4
b} 1/13
c) 1/26
d) 1/52

Uy 123- 313 1§ 10 P Bl JON AEE =0 F T S 8, T a1 Guar & By vg wo
T YT &7

a) 1/2
b) 3/10
c) 2/5
d) 4/10




Q123- if a number is chosen randomly from 1 1o 10, what is the probability that itis a prime
number?

a) 1/2

b) 3/10

c) 2/5

d) 4/10

Ty 124- TS fodt 9% 1 970 Ged 200 T99 ¢ 3R [epd Yed 250 TUA g, ot orH Ul
GUINE

a) 10%
b) 20%
c) 25%
d) 50%

Q124- If the cost price of an item is Rs.200 and the selling price is Rs.250, what is the profit
percentage?

a) 10%
b) 20%
c) 25%
d} 50%

Q125- 2 a5f & fow 59 ufa 9 @1 G T 1000 TUY TR YR ST AT G2

a) 50 TUY
b) 100 $UY

c) 150

d) 200 ST

Q125- What will be the simple interest on Rs1000 at a rate of 5% per annum for 2 years?

a) Rs.50

b) Rs.100
¢) Rs.150
d) Rs.200

T 126- U B 3 9 7 180 fhH &1 g vl 31 gua nfd s 82

a) 30 fpdider
b} 40 T Hlsdct
¢) 50 fopdirder
d) 60 fopdireer

Q126- A car travels 180 km in 3 hours. What is its speed?

a} 30km/hr
b) 40 km/hr
¢} 50 km/hr
d) 60 km/hr .




g4 127- ¢ AT B &1 s AT A g ar asvar g sl s S prd o1 10 A H gy o
Tl ¢, ) 1 &l U 1Y BT B3 H fodar amg e

a)3.33 feq
b) 5 &
) 6.5feq
d) 71

Q127- if a can complete the task in 5 days and B can complete the same task in 10 days, how
long will it take both working together?

a) 3.33 days
b) 5 days

¢} 6.5 days
d) 7 days

TY 128- IS 3A=58 31X 28=4C &, A A:B:C BT S0 T &2

a) 10:6:3
b} 6:10:3
c) 10:3:0
d) 6:3:10

Q128- If 3A=5B and 2B=4C, then what is the ratio of A:B:C?

a) 10:6:3
b} 6:10:3
c) 10:3:6
d) 6:3:10

TY 129- T S-RI Bl A, B 3R ¢ P N 3:4:5 % MU § ST S 213G c B A 500
U 3 forerd €, @ oo AT A g2

a) 1500 3.
b) 2000 .
c) 2500 9.
d) 3000 .

Q129- A sum of money is divided among A,B and C in the ratio of 3:4:5. If C gets Rs,500 more
than A, What is the total sum?

a} Rs.1500
b) Rs.2000
¢} Rs.2500
d) Rs.3000



U 130- 7 T} o0 el 9 7 A T 82 (TT=22/7 BT TN FN)

a) 154 i THT
b) 144 T T}
c) 164 Y1 TAT
d) 176 a71 T}

Q130- What is the area of a circle with a radius of 7 cm? {(Use T7=22/7)

a) 154 sg.cm
b) 144 sg.cm
¢} 164 sq.cm
d) 176 sg.cm

Y 131- Ueh T91 b1 URATT 48 Qef} B 1 STDHT A6 &7 82

a) 100 I¥1 T
b) 121 71 94T
c) 144 71 A4}
e) 169 I T

Q131- The perimeter of a square is 48cm. What is its area?

a) 100 sg.cm
b) 121 sg.cm
c) 144 sg.cm
d) 169 sgq.cm

U8 132- T SR 20 faraiomy i, forga! $519d Rs. 30 Ui fpaim €, R 30
fopenure i+, frget S Rs. 40 Uld @y 8, &1 fiamar §1 ofd 4 [myu ol gl
frciuma B el 8l

a)34"<7q'a
b) 35 TU
c) 36 BUY
d) 37 30

Q132- A shopkeeper mixes 20kg of sugar at Rs.30/kg with 30kg of sugar at Rs. 40/kg. What is
the price per kg of the mixer?

a) Rs.34
b) Rs.35
c) Rs.36
d) Rs.37




T 133- Teb &l H 40 e gU g1 5 TWer Y Neprard Sues! srrg UMl el e s 2
Tkl &1 Ueh 1R AR QIERTaN SITaT & | S B o g & Sifam s s g2

a) 31 @iex
b) 32.25 Tie
¢)33.75 @}
d) 35 @R

Q133- A vessel contains 40 liters of milk. 5 liters are taken out and replaced with water. The
process is repeated once more. What is the final quantity of milk left in the vessel?

a) 31 liters
b} 32.25 liters
c) 33.75 liters
d) 35 liters

UY 134- i fapeil Ut o1 ISiRa IR IR a9 & 200 HRIS ST, 250 HRIS TG, 300
RIS B AR 350 HRIS ST T, T 39 IR IO & 3Gd Irered o1 T2

a) 250 B T
b) 275 BRIS TG
c) 300 BUS ¥
d) 325 PRSI

Q134 If a company’s revenue in four consecutive years was Rs.200 crores,Rs.250 crores,
Rs.300 crores, and Rs.350 crores, what was the average revenue over these four years?

a) Rs.250 crores
b) Rs.275 crores
¢) Rs.300 crores
d} Rs.325 crores

Uy 135- (9 difcre 1914w wenst § o6 &1 bem gl §:
FT T DI =T

) 50
7 60
8 55

9 65
IR Bl H B &) o I fvam 87
a) 200
b) 210

c) 220
d) 230




Q135- The following table shows the number of students in different classes:

Class Number of students

6 50

7 60

8 55

9 65

What is the total number of students in all four classes?
a) 200

b) 210

c) 220

d) 230

s 136- ) G 5.7 F ST B §1 Ul FTepT ART 144 B, T SIS O AT 8
a) 55

b} 60

c) 84

d) 70

Q136- Two numbers are in ratio 5:7. If their sum is 144,what is the large number?

a) 55
b) 60
c) 84
d} 70

S 137- T2 A 3R B B 31 BT UG 3:5 8 @ik B, AT 10 T TST 8, T AT ST FNE?

a) 109
b) 15 T4
¢) 20 Y
d) 25 a9

Q137- if the ratio of the ages of A and B is 3:5 and B is 10 years older than A, what is A’s age?

a) 10 years
b) 15 years
c) 20 years
d) 25 years

a9 138- 10 A F SR R 8 T Y Srare a1d Py &1 e o 67

a) 30 97 9t
b) 40 7 G
c) 50 g7 94
d) 60 g% Al



Q138- What is the area of a triangle with a base of 10 ¢m and a height of 8 cm?

a) 30 sg.cm
b) 40 sg.cm
¢} 50 sq.cm
d} 60 sq.cm

T 139- Ueh TIbR §Titg ] BT 14 Hiew 8 | SHPT 50%¢ RI1 82 (17=22/7 &1 SUAN
%)

a) 512 97 Hiex

b) 616 T Hiex

¢) 700 9 HeY
d) 784 a7 Hiex

Q139- A circular garden has a radius of 14 meters. What is its area? (Use TT=22/7)

a) 512 sq.meter
b} 616 sq.meter
c) 700 sq.meter
d) 784 sg.meter

U4 140- Th §HER &l UHR o 91 e g, o @ ue &t Siud 100 399 ufd
fhalm 81 R GER & HITd 150 399 Ufa frellam 8, 2:3 & 3rqura §1 feaR a1 ufy
TP AT 1 &2

a) 120 $9g
b) 130 3TY
c) 135 34
d) 140 39

Q140- A shopkeeper mixes two type of tea, one costing Rs.100/kg. and another costing
Rs,150/kg, in the ratio of 2:3. What is the cost per kg. of the mixer?

a) Rs.120
b} Rs.130
¢) Rs.135
d) Rs.140

UY 141- U UGRI 61 50 208 Uid fbadiard areft 9+ & 8o Sud ufd feamnmy aref =i
& 1Y fob sy 3guTd H e anfgu drfds [Hysro &t g 60 S0 ufa feamm g o

a) 2:1
b) 3:2
c) 4:1
d) 5:3




Q141- In what ratio must a grocer mix sugar at Rs.50/kg. with sugar at Rs.80/kg to get a
mixture worth Rs.60/kg?

a} 2:1

h) 3:2

c) 41

d) 5:3

Ty 142 g it v ular & oifte o & =i g
Y B T (5.)

IR 4000

e @51 I 3000

BIECRE] 2000

fafay 1000

el T T i1 i fpeTe R Bl 87
a) 40%

b) 45%

c) 50%

d} 55%

Q142- The following table shows the monthly expenditure of a family:

Expenses Type Amount (Rs.)
Rent 4000
Groceries 3000
Transport 2000
Miscellaneous 1000

What percentage of total expenses is spent on rent?

a) 40%
b) 45%
c) 50%
d) 55%

Y 143- Th WY T YT U 3 49 &1 G2 & o Iudiv o S g

a)ﬂﬁﬂ%ﬂ

b) Jufidg €cl
c) HITifei §el
d) Sgifos a1

Q143- A column graph is primarily used to represent:

a) Continuous data

b) Categorical data

c) Geograbhica_l data

d) Theoretical data :




%%ﬁwwquh%ﬁﬁwméﬁmﬁuaﬁmw

a) P YfHT &

b) TS e W Al 1 T
o) Udd U | IR B} T
d) 39 IO

Q144- If a column graph shows the population of five cities, what does of the hight of each
column represent?

a) Total land area

b) Number of people in each city
¢) Number of houses in each city
d) Average temperature

Y 145- AU Persi ¥ S 3l W@l <¥H 916 U IR W% §, TS I) &1 Sidr o7

a) %pd § BE 3l oa I8

b) ool faRy wan o B o Ten
c)ﬁﬁﬁﬁm

d) BH-&w sra|

Q145- in a bar graph showing the number of students in different classes, what does each
bar represents?

a) The total number of students in the school
b) The number of students in a particular class
c) The number of teachers

d) The student to teacher ratio

Q146- AR 91¢ (9 &1 v iRfd o & g 9ed Iuanf ¢

a) Y & 1Y S arert Sl
b) THT & Y F I drdl Scl
c) B TH I} gral SeT

d) grefess A

Q146- Line charts are most useful for displaying:

a) Data that changes over time

b} Data that does not change over time
¢} Data with only one category

d) Random values




Q147- T AT FIE BT x-348f 3MH R IR 22Tdl &

a)w

b) THY A

¢) Uid=rd @9

d) g el

Q147- The X-axis of a line chart generally represents:

a) Categories

b} Time period

c) Percentage values
d} Random numbers

Q148- UTS TS ST Iy 31=31 SUaiT 7 & e fSarwnar g

a) C TP HBA3H DI AT AT

b) Tfaerd RaRvr f&amr

o) TG & 1Y Ul uafRia o
d) YT R &) a1 &1

Q148- A pie chart is best used for:

a) Comparing exact numbers

b) Showing percentage distribution
c) Displaying changes over time

d) Comparing geographical locations

Q149- TS Y1 & oG DI UTS TIC A ST 711 81 Afe wrebfea e o0 f&0 &,
ol ISR 1 a1 Tia=Td TIB I UR e (941 Wiidl g2

a) 25%
b} 50%
c} 33.33%
d} 20%

Q149- A company’s revenue is represented in a pie chart. If the “Marketing” Segment is 90
degree, what percentage of the total revenue is spent on marketing?

a} 25%
h) 50%
c) 33.33%
d) 20%




T8 150- 100 BT & T G0 &, 60 B O, 50 BT fA51 317 30 B S fawg U¥g &)
o ST & $H 9 ©F U fawy e g7

a) 60
b) 80
c) 100
d) 90

Q150- in a survey of 100 students,60 like Mathematics, 50 like Science, and 30 like both
subjects. How many students like at least one subject?

a) 60
b) 80
c) 100
d} 90



ANSWER KEY OF QUESTION PAPER FOR THE POST OF ACCOUNTANT

ENGLISH
Q. No. Answer Q. No. Answer Q. No. Answer Q. No. Answer
SECTION :-1 SENTENCE IMPROVEMENT
1 C 2 A 3 A 4 B
5 A 6 A 7 A - -
SECTION :-2 SENTENCE CORRECTION
g A 9 A 10 A 11 B
12 A 13 A 14 A - -
SECTION :-3 FILL IN THE BLANKS (PREPOSITION)
15 B 16 B 17 A 18 C
19 C 20 A 21 B - -
SECTION :-4 FILL IN THE BLANKS WITH APPROPRIATE VERB FORM
22 A 23 B 24 C 25 A
26 B 27 ' : , ) _
SECTION :-5 WORD REARRANGEMENT
2_8 B 29 A 30 A 31 A
32 .A - - - - - -
SECTION :-6 ERROR DETECTION
33 B 34 C 35 D 36 D
37 C 38 B 39 B - -
SECTION :-7 SENTENCE COMPLETION
40 C 41 A 42 C 43 C
44 B 45 8 . i . .
READING COMPREHENSION PASSAGE
46 B | 47 B 48 C 49 B
50 C - - - - - -




ARITHUMATIC ABILITY

. No. Answer .Q. No. Answer Q. No. Answer Q. Na. Answer
51 D 52 c 53 D 54 A
55 Bonus 56 A 57 c 53 B
59 B 60 Bonus 61 D 62 D
63 c 64 D 65 D 66 D
67 Df; 53 c 69 A 70 B
71 8 72 C 73 D 74 D

75 A 76 B 77 D 78 B
79 D 80 A 81 C 82 D
83 A _ 84 D 85 B 86 C

87 A 88 A 89 A 90 C

‘91 B 92 D 93 C 94 A
85 C 96 B 97 D 98 Bonus
59 B 100 D 101 A 102 C
103 B 104 A 105 A 106 B

._$07' CA 108 S A 109 B 110 A

111 C 1127 | B 113 7gﬁ 114 A
115 A 116 A 117 C 118 c
119 B 120 B 121 A 122 B
123 C 124 C 125 B 126 5]
127 A 128 A 129 D 130 A

131 C 132 C 133 C 134 B
135 D 136 e 137 B 138 B
139 B 140 C 141 A 142 A
143 3 144 8 145 B 145 A
147 B 148 B 149 A 150 B




